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And what is their increased — RO NP2 NP PRAPAR MDY 1T
susceptibility; that they become X»v without preparation

OVERVIEW

The X3 stated that the X»v> that is written by 122X teaches us that 921X is  Xnvn
TPWn; it cannot teach us that 92X is *22 Xnvn for there is a 1" which excludes 9218
from being &nvn a *3." Therefore we must assume that X»v> means that the 228
can be npwn Xnvn (only) since they are P217¥ to be XML Hapn. The Xn) asked that
this reason by 7pwn (that they are nxmw 22p% 1P21%) is superfluous, because the
Xnv cannot be 727 anything but Ppwn.” The X3 answered that since we could
refute the 1"'p by saying that 72X is more 71 than 7pw» (since it can be pwn RXnwvn
and npwn cannot be mpwn Xnwn), therefore even though npwn cannot be 0¥93 Xnwn,
nevertheless 72 can be 0°25 &nwn. Therefore it is necessary to refute this idea that
921X is more M than pwn since 22X is Ipwn Xnwn; this is not so, 72X is not more
Tnn than pwn,’ the only reason 221X is 7pwn Xnvn is (not because X is Mnn, but
rather) because pwn is more susceptible to be nx&mwv 22pn. Our MooIN challenges
the logic of the X7 na.

nooIN asks:
tn)~)la)) b? 1 NY YnINT rdal i 19%249Y NN

The 5"'1 finds this astounding! For there is still no valid Y"'{? which can teach us that

991X is not 2’93 XAVA -
= NN YN 19 ON INY 23NN TN 19399 PPYNN ANML YaPY 1Y 2301 XY IMPIYY NNY

For the ny»»y of 1pwn to be x™W 2271 is not effective that the Ppwn should be
R bapn from other Ppwn, but regarding %28 this Mm%y is effective,
therefore it proves that 2mam 95!

moon discusses now why the X3 chose certain 1"p over others:”

VI sipwin which is 92X Xnwn cannot be Xnun a *93, so Y2 which cannot be 221X Xnun, can certainly not be Xnun a *93.
%It cannot be 19918 77297 for 712 RXD IR0 YW P°X; it cannot be 0°93 7271 because of the aforementioned 1"p.
? Therefore the 1"p remains (see footnote # 1); if 7pwn cannot be 0% XL, s0 YN can certainly not be 025 Rawn.
*If the only reason 2 is pwn Xnun is because M7y, then why does not this M2*5y permit that 7pwn should also be
Tpwn Xnvn. The fact that it does not, proves that the reason 22X is 7pwn Xnaun (but 7pwn is not Ipwn Xnwn) is (not [only]
because of the m?%y of pwn, but rather) because the 7 of 2. The question remains since 72X is more T than
7pwn how do we know that 95X is not 2°73 &nvn. Our Moo does not answer this question. See “Thinking it over’.
> Previously we derived that >3 Xnun 7pwn 1R through this type of a1"p; if a °5 (which can be 7pwn Rnvn) cannot be
93 v, SO 23 NN RA7T APWn can surely not be 0°93 Rwn. Here regarding 1972 the 1"'p is, if apwn (which can be
D0 Knvn) cannot be *93 Xnwn, so 22X (which cannot be 221 &nvn), can surely not be 25 ®nvn. Our MooIN explains
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And previously when the X123 derived that 7pw is not 59> X2, the X123 could

not have derived it through an alternate 1''{, namely -
- 19 Y3 XY NPWN XNVM RXYT NPYN S5 NNVM PR NPYN RNDVNY Y9INN

From %28 which is mpwn» X»un, and nevertheless is not 92 X»un, so pws which

is not 7pwn Xuwn, obviously it cannot be *95 xnvn. The reason the X713 could not utilize

this type of 1" (which we use here by 21X) is because -
- 7559 NV RY YIINT 19310 NI KON

For how do you know this assumption that %28 is not v7> x»w» -
= DOIN NNVNT YIIND MNIN PPYNRT IV

An additionally we can refute this 1"p for pwn is more =121 than %2R since

7PWwn can be ¥R X»WHA and 2% cannot.
= 979999 1IN I TaynY *8n NY XM

And here (where we want to derive that 72X is not *75 Xnvn) the X3 could not

use the previous type of V"', namely -
- 19V 93 XY %H3 H1INM XA HAIN YD NNVM PN YN RNVNRY Y93 Nt

That if a "2 which is %28 X»u» cannot be 7> X»u» so the %218 which became
x»w from the *7> can certainly not be xnun» a *23; this 1"p is insufficient -

1997 "YW HInn N3N YN BIPNI Yant
For in any event how do we know that an 79w n»m» X277 92I8 cannot be 2795 Xnbn.

SUMMARY

nMooIN questions the assumption of the X713 that 92 is 7pwn Xnwvn only because of
the NM?°9Y of AXMIW 22apY pwn, since this MYV is ineffective for Ppwn to be H2apn
R from PPwn. MdoIN justifies the respective types of 1"'p by 17991 Ppwn.

THINKING IT OVER

Can we answer Moo question’ that 92X is not 1w from 7pwn and the reason 2218
is 7IPWwn Rnvn is because of 1N77Hy, however this 1M17°%Y is not effective that mpwn
should be 7pwn Rnvn, since 72 R¥PD ww axmw pr!'e

why the &3 chose these different styles of 1"p for 192181 Ppwin respectively and did not choose the other type of 1"p
for each side respectively.
® See footnote # 5.
" Until we make the 1"p (on the '3 Tny) that 22X is not *»3 xnvn (from a V"p that 7pw» is not "3 Xnun) we cannot
assume that 99X is not "3 Xnvn in order to prove that 7pwn is not 73 &nvn! It is circular reasoning!
¥ The yw is 2°95 Xnum, so perhaps the 2w Nama X7 Y2 (which is written in the 7790) can also be %95 xnun.
? See footnote # 4.
10'See pmo 11721 'on.
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